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Practice Worksheet: Trigonometric Equations

Solve each equation over [0, 27] by combining like terms. All answers must be exact in terms of pi.
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Solve each equation over [0, 27] by factoring. All answers must be exact in terms of pi.

13]sin?x —3sinx +2 =0

(sin x ~2)(sinx = 1) =0

Snx=2=0 Snx=130
Sin %= o Sin X:,
NEVER

(=)

17] cot? x = — 2cotx — 1
Cob X + Deokw + 1 = O
(et x + O(cot x +1) =O
cot x +1 =0

Co+x=“l
fan x = — |

14] sin® x cosx = cos x

a2
Sin X CosxX —cos x = O

(oS X (s‘mlx ~1) =0

18] sinx —2sinxcosx =0
gsnx(/— Deosx) =0

Sin X =0 [—QQOSX':O

(25mx = Dsinxt1) = O

2 sinx—-1=0 Sinx+| =0
S X = & Sin X =~ |
™ 5T :1@
XE7~ - XE o

G, o

1
Cos x =0 simx —1 =0 X CoS X = 2
2
Simox = | ><
- +
S, TT3W |
S X =SS
15] 2cos*x —+v3cosx =0 19] secxcscx = 2cscx
Cos X(Q@wa-ﬁ) =0 Seex csex —desex =0
. - 2)=0
Cos x =0  Rcos x-13 =0 cse x (see % D
™ 3w _ E_’ cse ¥ =O Sec X"Q:O
L Cos x= 5 coc x =2
N eves : L.
w £ N CoS X = .
© T s
“T3, 3
16] 2sin?x +sinx = 1 20]tanx cscx —2tanx = 0
N N . - -
2sin” x + SiaX — | =0 J—m\XCC,Scx —Q\) =0

+an X = O csew =2 =0
CSCK:D\

S\r\.xr’gﬁ




